a. Calculate the NPV, IRR, Profitability Index, and MIRR for this project with a cost of capital of 12%.
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b.For a single conventional project, the NPV and IRR will agree on whether to invest or to not invest. However, in the case of two mutually exclusive projects, the two criteria will sometimes disagree.Explain the two primary factors that cause NPV and IRR to conflict when evaluating mutually exclusive projects. 
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TABLE 19 Cash Flows for Lawton Investment (Rounded to Nearest $1,000)

Year 0 1 2 8 4 5 6
Fixed capital investment —2,000

NWC investments =200 =50 =%} =Gl —34 =6

Sales 1,200 1,500 1,875 2,063 2269 2,496
Fixed cash expenses 150 150 150 130 130 130
Variable cash expenses 480 585 713 784 862 948
Depreciation 600 700 400 200 100 0
Operating income before taxes —=30 65 613 949 77 1,417
Taxes on operating income =9 20 184 285 353 425
Operating income after taxes —21 45 429 664 824 992
Add back: Depreciation 600 700 400 200 100 0
After-tax operating cash flow 579 745 829 864 924 992
Salvage value 150
Taxes on salvage value =4
Return of NWC 416

Total after-tax cash flows —2,200 529 682 798 830 886 1,513




